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Jerry forgot to plug in his laptop before he went to [ EE56% Sat 9:27/AM Qi +16 (16,9
bed. He wants to take the laptop to his friend’s _ _ ] (29\6‘17
house with a full battery. The pictures to the right LG 640 sat936AM Q | +25
show screenshots of the battery charge indicator =20 sat94gm o‘“r] ('57.7‘13
after he plugs in the computer at 9:11 AM. N SRS S PO + 1Y (|H‘7q)
[CZ (86%) Sat10:08 AM. Q | +57 (57\ %)
|GF 1% Sat10:17AM_Q | 466
Questions: (%\ql)

1) Is the correlation positive or negative? Why do you think this is?

Rsitive;, the mae Hme goes by, the mae the laphp Jwges.

2) What type of correlation is represented by this situation? Estimate the value of the correlation coefficient r.

Linear corvelation 3 sty pusitie. (a0 or se)

3) Draw a line of best fit and find the equation for it (Hint: find two points on your line).

What does the slope of the equation represent? T bt
(OM3)  gau3_ uﬁ 207 e ¢ laplop charyes a
Gt S 0.76525 Y =0.765625 x+43 0.779, per winvte,.

4) Use your equation to estimate the time when Jerry will have a fully charged laptop.
ST (00 = 0.769%75 % +43 , m{i
N 10s
57=0765c25% — yemunq  Abai T4 mindes % 25 |

5) With your calculator, perform a linear regression. When will Jerry have his laptop fully charged based on the
line of best fit? v ~0.75653 x + 43.6643 — 100 =0.75¢93x+43¢6u3
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